Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 8 - Forres

5,911

1,183

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
George ALEXANDER	Independent	981
Lorna CRESWELL	Independent	555
Claire FEAVER	Scottish Conservative and Unionist	2,094
Jeff HAMILTON	Independent	243
Aaron MCLEAN	Scottish National Party (SNP)	1,389
Terry MONAGHAN	Independent	36
Fabio VILLANI	Scottish Greens	613
	Total	5,911

Candidate Claire FEAVER Elected with 2,094 votes, being in excess of the quota of 1,183 Candidate Aaron MCLEAN Elected with 1,389 votes, being in excess of the quota of 1,183

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Claire FEAVER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George ALEXANDER	612	0.43505	266.25060
Transfer to Lorna CRESWELL	422	0.43505	183.59110
Transfer to Claire FEAVER	0	0.00000	0.00000
Transfer to Jeff HAMILTON	211	0.43505	91.79555
Transfer to Aaron MCLEAN	0	0.00000	0.00000
Transfer to Terry MONAGHAN	42	0.43505	18.27210
Transfer to Fabio VILLANI	134	0.43505	58.29670
Value of non-transferable ballot papers			292.79395
-	 Total		911.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Aaron MCLEAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George ALEXANDER	0	0.00000	0.00000
Transfer to Lorna CRESWELL	273	0.14830	40.48590
Transfer to Claire FEAVER	0	0.00000	0.00000
Transfer to Jeff HAMILTON	98	0.14830	14.53340
Transfer to Aaron MCLEAN	0	0.00000	0.00000
Transfer to Terry MONAGHAN	37	0.14830	5.48710
Transfer to Fabio VILLANI	648	0.14830	96.09840
Value of non-transferable ballot papers			49.39520
	Total		206.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of George ALEXANDER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George ALEXANDER	0	0.00000	0.00000
Transfer to Lorna CRESWELL	293	0.02241	6.56613
Transfer to Lorna CRESWELL	569	0.05151	29.30919
Transfer to Claire FEAVER	0	0.00000	0.00000
Transfer to Jeff HAMILTON	112	0.02241	2.50992
Transfer to Jeff HAMILTON	148	0.05151	7.62348
Transfer to Aaron MCLEAN	0	0.00000	0.00000
Transfer to Terry MONAGHAN	31	0.02241	0.69471
Transfer to Terry MONAGHAN	35	0.05151	1.80285
Transfer to Fabio VILLANI	30	0.02241	0.67230
Transfer to Fabio VILLANI	99	0.05151	5.09949
Value of non-transferable ballot papers			9.97253
	Total		64.25060

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Terry MONAGHAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George ALEXANDER	0	0.00000	0.00000
Transfer to Lorna CRESWELL	9	0.02241	0.20169
Transfer to Lorna CRESWELL	20	0.05151	1.03020
Transfer to Lorna CRESWELL	12	0.14830	1.77960
Transfer to Lorna CRESWELL	15	0.43505	6.52575
Transfer to Lorna CRESWELL	16	1.00000	16.00000
Transfer to Claire FEAVER	0	0.00000	0.00000
Transfer to Jeff HAMILTON	8	0.02241	0.17928
Transfer to Jeff HAMILTON	4	0.05151	0.20604
Transfer to Jeff HAMILTON	3	0.14830	0.44490
Transfer to Jeff HAMILTON	17	0.43505	7.39585
Transfer to Jeff HAMILTON	13	1.00000	13.00000
Transfer to Aaron MCLEAN	0	0.00000	0.00000
Transfer to Fabio VILLANI	3	0.02241	0.06723
Transfer to Fabio VILLANI	1	0.05151	0.05151
Transfer to Fabio VILLANI	12	0.14830	1.77960
Transfer to Fabio VILLANI	2	0.43505	0.87010
Transfer to Fabio VILLANI	2	1.00000	2.00000
Value of non-transferable ballot papers			10.72501
	Total		62.25676

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Jeff HAMILTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George ALEXANDER	0	0.00000	0.00000
Transfer to Lorna CRESWELL	62	0.02241	1.38942
Transfer to Lorna CRESWELL	84	0.05151	4.32684
Transfer to Lorna CRESWELL	31	0.14830	4.59730
Transfer to Lorna CRESWELL	109	0.43505	47.42045
Transfer to Lorna CRESWELL	117	1.00000	117.00000
Transfer to Claire FEAVER	0	0.00000	0.00000
Transfer to Aaron MCLEAN	0	0.00000	0.00000
Transfer to Terry MONAGHAN	0	0.00000	0.00000
Transfer to Fabio VILLANI	5	0.02241	0.11205
Transfer to Fabio VILLANI	15	0.05151	0.77265
Transfer to Fabio VILLANI	25	0.14830	3.70750
Transfer to Fabio VILLANI	17	0.43505	7.39585
Transfer to Fabio VILLANI	45	1.00000	45.00000
Value of non-transferable ballot papers			148.96636
	Total		380.68842

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Fabio VILLANI

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George ALEXANDER	0	0.00000	0.00000
Transfer to Lorna CRESWELL	10	0.02241	0.22410
Transfer to Lorna CRESWELL	53	0.05151	2.73003
Transfer to Lorna CRESWELL	345	0.14830	51.16350
Transfer to Lorna CRESWELL	58	0.43505	25.23290
Transfer to Lorna CRESWELL	410	1.00000	410.00000
Transfer to Claire FEAVER	0	0.00000	0.00000
Transfer to Jeff HAMILTON	0	0.00000	0.00000
Transfer to Aaron MCLEAN	0	0.00000	0.00000
Transfer to Terry MONAGHAN	0	0.00000	0.00000
Value of non-transferable ballot papers			345.57285
	Total		834.92338